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(1) Solve the system X'= AX
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Char. eq. M8\ +17=0
has roots 4 £ ¢

4 + 1 has eigenvector [2 i J
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put U= H and V = l_ll
Then two lin. indep. solutions are X; = e (U cost — Vsint) and X, = ¢ (Usint + V cost)
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Gen. sol. is: X = 01X1 s OQXQ.



(2) Solve the system X'=AX
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(3) Solve the initial value problem
y"'+4y':0
y(0)=-1, »(0)=2, y"(0)=4
Nav, equation : Y340 = YY) £
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(4) Find a particular solution of

y'+2y'-3y =3-16xe”*
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(5) Solve the differential equation

(x+2 tan ! y)dx +(
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(6) Solve the differential equation

y'+(y')* +1=0
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(7) Verify that x, = ez{ 2], X, = 6{1} X, = e{l]
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are linearly independent solutions of the system X'= AX
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where A{ 6 9 2] . Find a particular solution of the system
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satisfying the initial conditions X,(0) =1, x,(0) =2, X3(0) =3
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(8) The rank of the matrix
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(10) The differential equation 3y’ Yy’ =e s
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(13)Let A bean nxn matrix such that 4> =0. Show that =0 isan
eigenvalue of A.
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